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= PUZZLE EINSTEIN’S WORK OUT
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= SOLUTION
+ g THE SPANISH MAN DRINKS TEA
= THE MAN WHO PLAYS THE DRUMS LIVES NEXT TO THE ONE WHO OWNS A CAT THE RED HOUSE IS ON THE LEFT OF THE NATURAL WOOD HOUSE
= THE MAN WHO OWNS A HORSE LIVES NEXT TO THE MAN WHO PLAYS SAXOPHONE THE OWNER OF THE RED HOUSE DRINKS COFFEE
— THE DRUM PLAYER LIVES NEXT TO THE ONE WHO DRINKS WINE THE GERMAN PLAYS THE PIANO
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E THE OWNER OF THE BLACK HOUSE PLAYS THE SAXOPHONE THE BRITISH MAN LIVES IN A DARK BROWN HOUSE THE SWEDISH MAN OWNS A DOG
= THE AMERICAN LIVES IN THE FIRST HOUSE THE PERSON WHO PLAYS VIOLIN OWNS A BIRD THE MAN WHO PLAYS THE TRUMPET DRINKS BEER
g THE AMERICAN LIVES NEXT TO THE WHITE HOUSE THE MAN LIVING IN THE CENTRE HOUSE DRINKS MILK
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